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2219 & 20& =XUHESESH A
nSHFD
Helotn otde dANSEE 2=
FOHEHO o NEHY FE(FANYSLEINH) (9 ® =)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
N 6,952,260 7,465,038 £512,778
Al 56,000
- 6,896,260
Helstn otds dANSEE 7 6,712,345 7,301,187 588,842
Al 56,000
- 6,656,345
FOEO o NESHY FEH(FIAHESLEIA) 37,380 2,561,952 A2,524 572
HEFTAE =& 37,380 46,972 A9,592
201 Let24d] 17,380 19,172 A1,792
01 At 22l 17,380 19,172 A1,792
OFXZstHL 2&@ Al =& 14,580
-89 100,000& *300H 3,000
-—sE2d¢ 80& +16,00001 x65 7,680
— OFLY{ 2+ it 150,000 * 1094 2 1,500
- 01 7,000& *10000 25 1,400
-sFetdl, ¥L s 1,000
OZYEAHE S LAFIE 20015 EA AXE
L0003 *2Z 10 A %23 2,800
202 O4dl 20,000 20,000 0
04 =X &t H 20,000 20,000 0
OFXtAlE A48T A 20,000
EYF X UEH(FUNEELES 898,831 1,195,703 AN 296,872
FEX g HE 2 2 618,831 626,603 AT, 772
101 @124 dl 160,541 172,042 A 11,501
04 JI2ZHHZ22XREES 160,541 172,042 A 11,501
ORQUCSAIAEH 2HRA 1A 28,634
2= 80,1033 x 1 +315L 25,233
-H3EANOHS 300,000& »1H 300
-—=EXNZEUE 300,000& »1H 300
-0z EE= 25,832,445& x4 5% 1,163
- IEEBE= 25,832,445% *1.65% 427
- MHEE = 25,832,445% *0.853% 221
- QALEEZ 25,832,445% *3.43% 887
—LEIQLYEE 887,000& x11.52% 103
OFAcs 2@ Mo0A A4g@ oAl 28,634
-JlE= 80,1033 x 1 315 25,233
-H3EANHS 300,000& »1H 300
-EXNZAE 300,000& x1H 300
-3z EE= 25,832,445% «4 5% 1,163
- IEE2BE= 25,832,445% *1.65% 427
-MHEE S 25,832,445% *0.853% 221
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2N
X ZH -
L= B

el

5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OFXE A4Ag S =2 2,000,000& x90% 1,800
401 Al HIZ 201 8] 150,000 0 150,000
01 A& HI 150,000 0 150,000
OSMNs 2782 EBs=XE AL 150,000
Jel=XALS 86,480 66,480 20,000
Al 56,000
- 30,480
201 Let24dH] 6,480 6,480 0
02 =24l 6,480 6,480 0
OCCTV 8834 AIEBZ2 100,000& »5CH <12 6,000
OCCTV &JIR=3 40,000& x12& 480
402 RI2HX20l M 80,000 60,000 20,000
Al 56,000
T 24,000
02 2IZt Xt 2 AL EZ (OIS ) 80,000 60,000 20,000
ODBI=XAL (JHEIE7) 4,000,000 *200t 7 80,000
Al 56,000
T 24,000
SEFIUHE HEAY 40,000 40,000 0
402 2I2H X201 M 40,000 40,000 0
01 2I2F 2 A B (RERTH ) 40,000 40,000 0
OFRLEF=XE HLAY 10,000,000 «4J4 2 40,000
FUHE 29 413,483 438,616 A 25,133
201 L2l 167,912 172,862 A 4,950
01 At 22l 41,800 17,750 24,050
O3gxxd 28 822 MH
200,000 *26H 2~ 5,200
O3ZF=x& ZFHI =+=8 800,000& 83| 6,400
OZEF:XE JdNLYE =2 8,400
—YE+2 (582 =) 700,000& *73 4,900
—dEa2 (5F0HA 0lot) 500,000 *73] 3,500
OZ2ZFNE(FH) AUHBIIE 53 =28 900
-RIJE 2E=2E & 500,000& x13] 500
-dNIIE QLIYEE =3 400,000& x13] 400
OZEFXE Adtotdae 83d =2
150,000 64 A +12& 10,800
OFAHNEEF=IE MEX S &L 3,700
-89 100,000 *4H 2 400
— OFLY{ 2+ 330,000 *100H & 3,300
OFHIEEFXE 28 23 7Y 2,400
- FAesz DAAM 70,000 20 A 1,400
- ZI=xA 500& =2, 0004 1,000
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BN DEHH
HH: Hel5) ONE HADNSHE S
S FXNBLHE(FHZSLEA) (S &2)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
OFAHANEEZI 28AY &2 4,000
= 200,000 *15JH A&~ 3,000
-&EX S 1002 =10, 0000H 1,000
02 232 H4| 126,112 155,112 A 29,000
OZLFIE AE2EU KA
1,000,000 x26JH 2~ 26,000
OBEFXE =XUHFEH HEM
40,000 x50084 20,000
OZ2LF=XE ASP R X2 4=t
10,000,000 *2JH 2 20,000
OB HA HOUBSEFIE RALZH|
300,000 x12& 3,600
OESFXE RAEH| 200,000& x12& 2,400
OZ2EFXH dHE CCTV KA E 44|
170,000,000 *8%=1.1 14,960
OFAHNEEF=IUE A E2H|
50,000 *400H 20,000
OEUECTEZ) M2
7,000 %2280 A+ 12 19,152
307 212t0| & 168,271 171,572 AN 3,301
05 QIZ2tREF 2 167,271 171,572 A4, 301
OFANHSERE g4+
40,0003 1,089 x0.8%12& %0.4 167,271
06 22 1,000 0 1,000
OZ2LFIHE AIES oA AESE X8
=2 100,000& =53] 500
OFAHANNENESFEAE Eoltia2adEy IS
= 100,000& *53] 500
308 AMXIESHHMSOIA 52,300 44,182 8,118
07 MIXSHHM2UAREES S 4,800 4,800 0
OZESFINAEBEANAEY SIEx B2
4,800,000& *13] 4,800
12 JIEt82 =2 47,500 39,382 8,118
OANHIEZX 2HFEXNE(M2EXZ) 222
232 20,000,000& *50% 10,000
OANHIEZX 2L =N (SASH2EYE) 29
e 2E= 25,000,000& *50% 12,500
OANHIEZX 2H TN (BE2USAINZR) 29
 RE= 50,000,000& *50% 25,000
401 Al HI L E0HHI 25,000 0 25,000
01 Al& H| 25,000 0 25,000
O29F=XZ AId= 22l 1,000,0002 *15JH &~ 15,000
OFHNEESF=XE AMES 22|
1,000, 000& 1000 & 10,000
ol g1 4] 4,854,894 0 4,854,894




A REWEDY
HH: Hel5) ONE HADNSHE S
S FUBAHB(FHYSEE) CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
801 Gl HI bl 4,854,894 0 4,854,894
01 BHoil bl bl 4,854,894 0 4,854,894
ool 4,854,894
SYIH WAHS(FUHSLIIAH) 229,477 228,615 862
YR BHHE 229,477 228,615 862
101 @144 dl 81,898 79,436 2,462
04 JIZtHZ2XREES 81,898 79,436 2,462
FEX Lt g 81,898
-J2= 80, 103& *3H 300 72,093
-—gE2403 300,000 =3 900
-—EXZUE 300,000& »3H 900
-0z EER= 73,892,700& x4.5% 3,326
- IEEBE= 73,892, 700& x1.65% 1,220
- MHEE = 73,892,700& *0.853% 631
- QALBEEZ 73,892, 700& %3.43% 2,535
—LoAleLEEE 2,535,000& *11.52% 293
201 L4l 129,806 131,406 A1,600
01 At 22l 36,200 37,700 A 1,500
O1NXNA &4 - S8 &2l 25% *500,00024 12,500
OFZX /e WEeHE IXAM HME
37& 500,000 18,500
Otz 82 e ¢ &9 M 1,700
-OoHE 50 *24,0000H 1,200
-89 100, 000& *50H 500
ORst IRSE(EH) S ===
1,000& 5004 500
OHSE X 2 A4Ee 242
250,000& 1228 3,000
02 =224l 93,606 93,706 A 100
OFFX et WBEE DXN S 28 RER=2
7,000,000& x12& 84,000
O xte XXMl (AEZEIXIR)
250,000& = 1CH 250
OgxIxtg FAGI(AZENXIR)
3,500,000 = 1CH 3,500
OADEE SHHI(FXNALE SAZ)
50,000& x10H =128 600
ONSIAHSEHIIIANALE SAE 4
348,000 128 4,176
OB+=S U SHHIMHT ANAY SNSHH)
90,000& +x12& 1,080
303 Z& =3 17,773 17,773 0
01 243 17,773 17,773 0




A REWEDY
MM mHelstn OME MANDEHE 1S
S9SN MEHS(FUHISBAN) CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
||| ONHHE Mo+ F+LAZ 17,773
HH2IZH (nSEHFH D) 239,915 163,851 76,064
AHASIH(=UHESESIA) 239,915 163,851 76,064
ol 2AH| 239,915 163,851 76,064
101 @124 Hl 239,915 163,851 76,064
02 JIEt& B == 239,915 163,851 76,064
OSEFEX & AIAEEMAINIM bl 239,915
-—=3 2,329,100 x6H 123 167,696
- ZAg A 140,000& x6H =123 10,080
-tE==g 100,000& 6 122 7,200
- gExtl 145,000 *35/40%6 % « 128 9,135
—samoag
27,949,200 *40/35%84%*5%*6'H 8,050
- tHerg sl 50,000 *35/40+6 % » 122 3,150
— L2 &l
27,949,200& /12%0.84%0.86%1/30%1/7x140%6 6,731
E
-T2 8,798 «44 Al 2t x6H « 123 27,873




